ER27EE APREFEBRN AN -1 284 XE

[5BF]

=B 3
| |
A5 B5
15:00 15:00
A3 B3 . AN
12:00 20H 12:00 ?g 4
195 T
C3 D3 C4 D4
12:00 12:00 13:30 13:30

]

P @ ® 6 ® O ©) o @
= T A
al Bl |x = (=] [#] || || |= il 1%
sl |4l |8 =l (& [El | F| | Bl |al [
3] 3 : T

15:00 15:00

C5 D5

! !

XAEGRH BFHTHERKREE(C-DI—F), FASQHLVEELE(A-Ba—F)
XEEFHM: 2 TORAZEHRDOFMTER



ERR2TEE BPEEREEBN AN -1 284 XKE
HiB : FRk27F9A198(X)-208(R)
£ BHFHHEABELE(C-DI—N) . &

ANHLMEFE (A-BI—H)

No ?;E.F s Ba:_-bs 5‘/7 No I% s Ba"—j—\
14 21
12 24 -
. 58 | 10 o6 | g8 | TSR | @
22 17 O
AR
11 25 20 9
20 17 - 23 6 -
c2 68 | 26 18loz| TN | 1@ (oo 75| 16 g | 51| ALFH
11 39 I 16 28 I
= oA
17 16 11 13
20 17 - 16 20 .
c3 72 | 21 150 65 | TSR | HEeg oo 78 | 22 o0 |so| HH
R mR
13 21 9 20
. 25 13 - 9 23 .
K i
cal \ERIR| g0 | 16 ofea| T | omEsg |os 63|17 20|81| *
2 20 o 28 16 e
moR N
15 39 22 19
cs 54 9 1593 /\BE || 93 | 22 12| 69| AFH
17 20 I 29 20 .
Y e
14 15 25 16
19 12 - = 929 18 .
A3 62|17 14|53 T ZERRE | B3 \EETR 66| 8 19|71 KM
puuren| |12 12 s H 18 s
12 1 - 22 9
191 |8 [ AR R I L =
A5 58|19 16| 72 ‘ o |B5 80 | 19 16| 57 =
. 8 97 | 3R 95 15 o
s B ke B ok | ek ke




ER2TEE ATESEFERN AN -1 284 K&

[%&F]
= I
| |
Ad B4
13:30 13:30
A2 B2 |
10:30 208 10:30 ?J\IQ\' Z
1980 ! A
A4 B4 A5 B5
13:30 13:30 15:00 15:00
Al A2 B2 A3 B3
9:00 10:30 10:30 12:00 12:00
©) @ ©) @ ® ® @ ® ) ® ®
5 x e
al (X |= z 5| x| (x| |&] = (2] |21 |=] |
s &l 1=l & (7] 12 |1* =] (=] =] [§] [#] |2
H £ i 3]
A8 B6
16:30 16:30
|
Ad
20H9:00

XEARE FTHANSVEEE(A-BI—H)
XHEEHE: 2 TORSGZERORETRE

ﬂ




TER2TEE BYaEFTRNATIN L1285 KRS

HiR : FR27FE9A19R(L)-20H(H)
215 SRANHMABTE (A-Ba—H)

No| AF—L 5 B BF—L [ 527 [No| AF—L g =
5] — |20 —
— 17 — |11 . -
m| TFH Aol — 18l TR | 1@ —
L 17| — |10 L —
=] Tﬁ( o =1} *54 _
36| — | 2 2| — |24
== 24 - 6 2 S B 6 - 27
ao| FFH |y 24| — | 8120 B 1[E]E | B2 AMER| |, 1| — |37(117
% 301 — |4 % o 3| %
91 — |19 9] — | 6
9| — |19 —s 120 — |7
sl BF gl s — 17l w5 B i@ (e MEE |s1]32 — | 526
= s ].8 - 20 = S =N s ].8 - 8
mR . moR o -
30] — | 7 2] — 120
- 2711 — | 8 - - 13 — |31
aa TSR |06l 001 — 11| 36| EFM [omeg || BFH | 40000 — 14|77
B o 29| — |10 m o m o T
6] — |8 Bl — 19
. 13 — |17 —, 4] — |12
N =
as| IR | oolal — [ 10)as| EB O [omsg|ss| MZE 67|07 — 15|51
=l o 18| — 8 = o = 753 Iy — |15
A . A 9 & .
3] — [ 17 23] — | 6
no| BN ag| o oy 76 | RMER sEsls] P [s7|17] — |15]46
o e 11 - 15 B A =l s 22 - 15
R _ 3 Y o
3] — | 8 —
- 18] — |11 o e —
m| FE lgg|ig] — g |ag| AMER B E B, -
= B I3 _
25| — |16 23] — |18
- 16| — |14 ; . 6, — |0
| FHER 69|19 — 1al5a| AN lagppmlos| /\EE 07060 0] 30
s 16| — 10 E= = v 22 - 11
=3 o I3 =Y o
A4 6715 — | 6|34 s o sy |B4 ! 7024 — | 12|41
N 13 — |8 |3k I 9| — |15
Y B R TE B AR _




